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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

What are the various factors of site exploration?
What is split spoon sampler and thin tube sampler.
Define Net safe bearing capacity.

What are the assumptions made in Terzhaght's Bearing
capacity theory?

Write the types of foundation.
What is floating foundation?
What is ‘under reamed pile’?
State Hiley’s formula.

Define Coulumb's wedge theory.

10. Differentiate between active earth pressure and passive
earth pressure.
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PART-B (5x16=80 marks)

Explain any two penetration tests that are
most commonly used for site exploration.

Or

Explain the process of selecting the foundation
based on soil condition with example.

(i What 1is settlement? Explain their
components.

(i) What is shallow foundation? Explain
with their types.

Or

A strip footing 2m wide carries a load intensity
of 400kN/m? at a depth of 1.2m in sand. The
saturated unit weight of sand is 19.5kN/m3
and unit weight above water table is
16.8kN/m?. The shear strength parameters are
¢=0, and angle of internal friction is 35°
Determine the factor of safety with respect to
shear failure for the following cases of location
of water table using Terzaghi’s equation.

()  Water table is 4m below ground level.
(i)  Water table is 0.5m below ground level.
(iif) Water table is 2.5m below ground level.

(iv)  Water table is at ground level itself.
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(i) State the design requirement of a (10)

foundation.

(i) What are the different types of raft
foundation?

Or

A trapezoidal footing is to be produced to
support two square columns of 30em and 50cm
sides respectively. Columns are 6m apart and
the safe bearing capacity of the soil is
400kN/m?. The bigger column carries a load of
5000kN and the smaller .carries a load of
3000kN. Design a suitable of the footing so
that if does not extend beyond the face of the
columns.

Explain the types of piles and their function
with neat sketches.

Or

) A friction pile 300mm in diameter is
proposed to be driven in a layer of
uniform cohesive soil. The pile tip is
assumed to carry 15% of the load. The
unit skin friction between the pile
surface and the soil is assumed to be
T5KN/m?. Determine the length of piling
required to carry a safe load of 200KN
with a factor of safety of 3.

(ii)  What is negative skin friction? How it is
calculated for a single pile and for a
group of piles in clay?
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less soil with an angle of friction 35°. The
surface is level with the top of the wall. The
unit weight of the top 3m of the fill is
16KN/m?. Find the magnitude and point of
application of the resultant active thrust,
Assume the angle of internal friction is same
for both the strata.

Or
®) () Listout the steps involved in designinga (8
retaining wall by incorporating  all

stability considerations.

(i) State the assumptions made in Rankine’s 8
theory of earth pressure.
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